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1 100kN/m#Z#8 %% 1.00]0.00 ~ 225 134.97|3mZE#BA5 =l ~ = = —| 100kN/m#%#8 %5 1.00 11.13 ~ 24.18 134.97|3mZEHB 25 ol ~ - - -
zh st 1.00]2.25 ~ 10.03 100.00| #+# 44t | 0.00 ~ 10.03|] 2.52 13.21 ZFh st 1.00f 500 ~ 11.13 100.00|] #hList 500 ~ 24.18| 2.52 13.21
9 100kN/m#Zi#8 %% 1.00/0.00 ~ 271 142.76|3mZE#B A5 =l ~ = = —| 100kN/m##8 75 1.00| 10.64 ~ 2534 142.76|3mZ#B %25 = Kaud - - -
zh st 1.00] 2.71 ~ 10.50 100.00| 44t | 0.00 ~ 10.50| 2.95 15.47 ZFh st 1.00f 500 ~ 10.64 100.00|] #hList 500 ~ 25.34| 295 15.47
3 100kN/m#Zi#8 %% 1.00]0.00 ~ 273 143.12|3mZ#B A5 =l ~ = = —| 100kN/m##8 75 1.00| 10.58 ~ 24.71 143.12|3m%ZE#B %25 = Kaud - - -
zh st 1.00]2.73 ~ 10.52 100.00| #+# 44t | 0.00 ~ 10.52| 2.65 13.88 ZFh st 1.00f 500 ~ 10.58 100.00|] #hList 500 ~ 2471| 2.65 13.88
4 100kN/m#i#8 %% 1.00/0.00 ~ 251 139.28|3mZE#B A5 =l ~ = = —| 100kN/m##8 75 1.00| 11.46 ~ 34.23 139.28|3m%#B %5 = Kaud - - -
zh st 1.00] 251 ~ 10.29 100.00| #+# 44t | 0.00 ~ 10.29| 2.89 15.16 ZFh st 1.00f 500 ~ 11.46 100.00|] #hList 500 ~ 34.23| 2.89 15.16
5 100kN/m##8 %% 1.0010.00 ~ 244 138.09|3mZE#B A5 =l ~ = = —| 100kN/m##8 75 1.00| 11.62 ~ 3522 138.09|3m%#B %5 = Kaud - - -
zh st 1.00] 244 ~ 10.22 100.00| #+x 44t | 0.00 ~ 10.22| 2.87 15.07 Fh st 1.00f 500 ~ 11.62 100.00|] #hList 500 ~ 35.22| 2.87 15.07
6 100kN/m#Zi#8 %% 1.00]0.00 ~ 235 136.65|3mZE#B A5 =l ~ = = —| 100kN/m##8 75 1.00f 11.08 ~ 25.18 136.65|3mZEHB %5 = Kaud - - -
ZFh st 1.00]2.35 ~ 10.13 100.00| #+# 44t 1 0.00 ~ 10.13] 2.84 14.91 FhLlst 1.00f 500 ~ 11.08 100.00|] #hLlst 500 ~ 25.18| 2.84 14.91
7 100kN/m#Z#8 %% 1.00]0.00 ~ 263 141.37|3mZ#B A5 =l ~ = = —| 100kN/ Mm%z 5% 1.00| 10.62 ~ 24.00 141.37|3m%Z#B %25 = Kot - - -
Zh st 1.00] 2.63 ~ 10.41 100.00| #+# 44t | 0.00 ~ 1041| 2.63 13.80 FhLlst 1.00f 500 ~ 10.62 100.00|] #hList 500 ~ 2400 2.63 13.80
8 100kN/m#Z#8 %% 1.00]0.00 ~ 2.09 132.38|3mZE#B A5 =l ~ = = —| 100kN/ Mm%z 5% 1.00| 10.53 ~ 18.51 132.38|3m%#B %5 = Kot - - -
Zh st 1.00]2.09 ~ 988 100.00| #+# 44t | 000 ~ 9.88| 2.39 12.52 FhLlst 1.00f 500 ~ 10.53 100.00|] #hList 500 ~ 1851 2.39 12.52
9 100kN/m#Z#8 %% 1.00/0.00 ~ 2.16 133.61|3mZ#B A5 =l ~ = = —| 100kN/ Mm%z 5% 1.00| 10.60 ~ 19.74 133.61|3mZ#B %25 = Kot - - -
Zh st 1.00]2.16 ~ 9.95 100.00| Z#x 4t | 0.00 ~ 9.95| 2.31 12.14 FhLlst 1.00f 500 ~ 10.60 100.00|] #hList 500 ~ 19.74] 2.31 12.14
10 100kN/m#Z#8 %% 1.0010.00 ~ 250 139.17|3mZ#B A5 =l ~ = = —| 100kN/ Mm%z 5% 1.00f 10.73 ~ 23.79 139.17|3m%Z#B %25 = Kot - - -
Zh st 1.00] 250 ~ 10.28 100.00| #+# 44t | 0.00 ~ 10.28| 2.59 13.60 FhLlst 1.00f 500 ~ 10.73 100.00|] #hList 500 ~ 23.79| 2.59 13.60
11 100kN/m#Z#8 %% 1.00]0.00 ~ 3.29 152.77|3m%i#8 25| 000 ~ 1.10] 3.50 18.37| 100kN/m%#8 %% 1.00| 10.73 ~ 46.46 152.77|3m%#8 % 5| 30.00 ~ 46.46] 3.50 18.37
ZFnList 1.00]3.29 ~ 11.08 100.00| #nLl4t | 1.10 ~ 11.08] 3.00 15.73 Zh Lt 1.00f 500 ~ 10.73 100.00| #Hn List 5.00 ~ 30.00{ 3.00 15.73
12 100kN/m%Zi#8 %% 1.0010.00 ~ 3.50 156.40|3m%i#82%| 000 ~ 1.22| 3.57 18.74| 100kN/m%Z#8 7% 1.00| 10.59 ~ 4586 156.40|3m%i#8 % 5| 30.00 ~ 45.86| 3.57 18.74
ZFnList 1.00] 350 ~ 11.28 100.00| #nLlst | 1.22 ~ 11.28] 3.00 15.73 Zh Lt 1.00f 500 ~ 1059 100.00| #n List 5.00 ~ 30.00{ 3.00 15.73
13 100kN/m%i#8 %% 1.00/0.00 ~ 3.26 152.24|3m%i#8%2%| 000 ~ 1.09] 3.50 18.33| 100kN/m%Z#8 7% 1.00| 10.75 ~ 46.00 152.24|3m%#8%5%| 30.00 ~ 46.00] 3.50 18.33
ZFnList 1.00] 3.26 ~ 11.05 100.00| #nLl4t 1109 ~ 11.05| 3.00 15.73 Zh Lt 1.00f 500 ~ 10.75 100.00| #Hn List 5.00 ~ 30.00{ 3.00 15.73
14 100kN/m%Zi#8 %% 1.0010.00 ~ 1.95 130.08|3mZ#B A% = ~ = = —| 100kN/ Mm%z 5% 1.00f 10.53 ~ 17.88 130.08|3m%#B %5 ol ~ - - -
ZFnList 1.00]195 ~ 973 100.00] #xLl4t 1000 ~ 9.73] 2.36 12.36 ZnList 1.00f 500 ~ 1053 100.00| #n List 500 ~ 17.88| 2.36 12.36
15 100kN/m%Zi#8 %% 1.0010.00 ~ 0.19 102.74|3m%Z#B A% = ~ = = —| 100kN/ Mm%z 5% 1.00| 12.32 ~ 13.06 102.74|3m%#B %5 ol ~ - - -
Zzh st 1.0010.19 ~ 7.97 100.00] ZnLl4 | 000 ~ 7.97| 1.95 10.21 ZFh Lyt 1.00f 500 ~ 1232 100.00| ZhnList 500 ~ 13.06] 1.95 10.21




